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Jakotaulut

4 poytaa, 8 paria. Jakomaara: 14. Keski: 42.

Sija Pari Pisteet $  Nimi Kerho

1 8 59 70,2 JORMA VALIMAKI - RISTO NOKI Salon Bk

2 3 52 61,9 ANTTI VOITTO - KALLE KUISMA Salon Bk

3 7 50 59,5 LASSE SALORANTA - PETER SOINU Salon Bk

4 2 43 51,2 LEENA MAENPAA - RAIJA BERGLUND Salon Bk

5 1 39 46,4 PERTTI LEHTINEN - JAAKKO VIIMA Salon Bk

6 5 38 45,2 SEIJA SUOMINEN - LAURA ALOPAEUS Salon Bk

7 4 37 44,0 MATTI ALANKO - ILMO AROSILTA Salon Bk

8 6 18 21,4 PEKKA MAENPAA - MATTI RINTALA Salon Bk
Jako 1 Jako 2
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
8 1 3N S = Cl0 400 6 0 8 1 3N W -2 H2 100 6 0
4 2 2N N +1 S5 150 33 73 IN W -1 H6 50 4 2
6 5 2N S +1 C10 150 33 4 2 3C W +1 D2 -130 15
73 4s N -3 HJ -150 06 65 4D E = H9 -130 15
Jako 3 Jako 4
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
76 4 N = S8 420 6 0 8 2 3N W -1 H7 100 6 0
41 3S N +3 HS8 230 4 2 76 2S E +3 HJ -200 4 2
8 2 2S N +2 H10 170 2 4 41 4S E = HJ -620 15
53 2S N +1 H10 140 0 6 53 4s E = D3 -620 15
Jako 5 Jako 6
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
8 3 2H W = C2 -110 6 0 25 3 N = DA 140 6 0
25 2H S -2 DA -200 33 17 4 N -2 C7 -100 4 2
6 4 2Nx S -1 sS4 -200 33 6 4 3D E = CA -110 2 4
17 3N E = CA -400 0 6 8 3 3D E +1 H7 -130 0 6
Jako 7 Jako 8
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
36 4H S +2 H7 680 6 0 21 4H E +1 SA -450 33
21 4H S +1 C5 650 33 36 4H E +1 SQ -450 33
8 4 4H S +1 C5 650 33 75 4H E +1 SQ -450 33
75 4H N = D4 620 0 6 8 4 4H W +1 SA -450 33
Jako 9 Jako 10
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
8 5 2S S -2 D2 -100 6 0 16 IN E +2 C3 -150 6 0
16 2H E = 83 -110 4 2 32 1S E +4 D4 -200 4 2
32 3H E +1 S4 -170 2 4 4 7 3N W +1 H3 -630 2 4
4 7 2H W +3 D9 -200 0 6 8 5 3N E +2 C3 -660 0 6
Jako: 11 Jako: 12
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
8 6 3N S +2 C3 460 6 0 8 6 2C E -3 H7 150 60
43 3N N +1 H3 430 4 2 43 1D S +3 H4 130 33
51 3N N = D4 400 2 4 51 2D S +2 83 130 33
27 3S S +1 HQ 170 0 6 27 2D S +1 HS 110 0 6
Jako: 13 Jako: 14
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
31 3H E -1 S4 100 51 54 2H S +2 D4 170 6 0
8 7 3N E -1 C10 100 51 8 7 3H S = D4 140 4 2
6 2 2H E +1 SQ -140 2 4 31 3D E -2 87 100 2 4
5 4 IN E +4 C7 -210 0 6 6 2 4D E -1 HS5 50 0 6
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